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Ship A is sailing towards north-east with
velocity =30 5{]); km/hr where 3

points east and ; north. Ship B is at a

distance of 80 km east and 150 km north of
Ship A and is sailing towards west at
10 km/ hr. A will be at minimum distance
from B in :
Options:

1 42hrs.

5 2.2 hrs.
5 2.6 hrs.

4 3.2hrs.
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Four particles A, B, C and D with masses

m, =m, mg=2m, m-=3m and mp=4m
are at the corners of a square. They have
accelerations of equal magnitude with
directions as shown. The acceleration of

the centre of mass of the particles is :
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A particle moves in one dimension from

rest under the influence of a force that
varies with the distance travelled by the
particle as shown in the figure. The kinetic
energy of the particle after it has travelled
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A thin circular plate of mass M and radius
R has its density varying as p(r) = Py ¥ with
P, as constant and r is the distance from its
center. The moment of Inertia of the
circular plate about an axis perpendicular
to the plate and passing through itsedge is
I=a MRZ2. The value of the coefficient a is :
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Four identical particles of mass M are
located at the corners of a square of side
‘a’. What should be their speed if each of
them revolves under the influence of
others’ gravitational field in a circular orbit

circumscribing the square ?
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A boy’s catapult is made of rubber cord
which is 42 cm long, with 6 mm diameter
of cross-section and of negligible mass. The
boy keeps a stone weighing 0.02 kg on it
and stretches the cord by 20 cm by applying,
a constant force. When released, the stone
flies off with a velocity of 20 ms . Neglect
the change in the area of cross-section of
the cord while stretched. The Young's
modulus of rubber is closest to :

Options:

1 10° Nm
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5 108 Nm
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2 104 Nm
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4 10° Nm
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Water from a pipe is coming at a rate of
100 liters per minute. If the radius of the
pipe is 5 cm, the Reynolds number for the
flow is of the order of : (density of water =
1000 kg/ m?, coefficient of viscosity of
water=1 mPa s)
Options:

1 104

> 107

= 10°

2
4 10
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Two identical beakers A and B contain
equal volumes of two different liquids at
60°C each and left to cool down. Liquid in
A has density of 8 x 107 kg/m® and specific
heat of 2000 | kg~ ! K~ ! while liquid in B
has density of 10° kg m’ Fand specific heat
of 4000 kg~ 'K~ L. Whichof the following
best describes their temperature versus
time graph schematically ? (assume the
emissivity of both the beakers to be the

same)
Options:
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A thermally insulated vessel contains

150 g of water at °C. Then the air from the
vessel is pumped out adiabatically. A
fraction of water turns into ice and the rest
evaporates at 0°C itself. The mass of
evaporated water will be closest to :
(Latent heat of wvaporization of
water =2.10 x10° Jkg ~ ! and Latent heat of
Fusion of water =3.36 x10°J kg~ 1)
Options:

, 150g

20g

Hg

4 130g
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If 102 gas molecules each of mass
1026 kg collide with a surface
(perpendicular to it) elastically per second
over an area 1 m? with a speed 10* m/s,
the pressure exerted by the gas molecules
will be of the order of :

Options:

;. 10°N/m?

5 10*N/m?
5 108 N/m?

4 1016 N/m?
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A steel wire having a radius of 2.0 mm,

carrying a load of 4 kg, is hanging from a
ceiling. Given that g=3.1 m ms 2 what
will be the tensile stress that would be
developed in the wire ?

Options:

1 5.2x10° Nm

(=]

[

5 3.1%10° Nm

]

3 6.2X 10° Nm

4 48x10°Nm™?
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A wire of length 2L, is made by joining two
wires A and B of same length but different
radii r and 2r and made of the same
material. Itis vibrating at a frequency such
that the joint of the two wires forms a node.
If the number of antinodes in wire A is p
and that in B is q then the ratio p:qis:
Options:

1 1:2
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The bob of a simple pendulum has mass
2 g and acharge of 5,0 pC. Itis at restina
uniform horizontal electric field of intensity
2000 V/ m. At equilibrium, the angle that
the pendulum makes with the vertical is :
(take g=10 m/s?)

Options:

] tan—1(0.5)

5 tan~1(5.0)

, tan"!(20)

102
i tan~" (0.2)
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A solid conducting sphere, having a charge

Q, is surrounded by an uncharged
conducting hollow spherical shell. Let the
potential difference between the surface of
the solid sphere and that of the outer
surface of the hollow shell be V. If the shell
is now given a charge of —4 Q, the new
potential difference between the same two

surfaces is :
Options:

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AT T |@Ee Mg Fag J 5
T ¥ 3E T F R AN @iEel FEad &
1 7% % = favarmr v ¥ At w=e
= UF AT —4 Q fom = &, 7+ 3= <
ge3f F == T4 favErr @

Options:



3 —2V

4 4V

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Q dlsvouz Yansidl 25 de sss 2L 519 sz
(et augs Wt stousie soel Bnddl 6. 4Rk
et oAl 20421 24 el sl el 2wdl
Al RElAMHAL dsldd V8. gel st el
s — 4 Q sv2dl dloyoiz e 2l @Aty
of wuel=l 9z Adl Fuldwadl dsed

-

8.

Options:

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Voltage rating of a parallel plate capacitor
is 500 V. Its dielectric can withstand a
maximum electric field of 10° V/m. The
plate area is 10 ~ 4 m?. What is the dielectric
constant if the capacitance is 15 pF ?
(given e, =8.86 x 10~ 12 C?/Nm?)

Options:

; 6.2

5 38
o 45

4 85
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For the circuit shown, with thl.ﬂ (1,
R2=E.D Q, EI=2 V and E?_=E3=4 V, the
potential difference between the points ‘a’

and ‘b’ is approximately ( in V) :

R'l a R,
AAAMA + A AN
i L E3
. =Ry L
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Options:
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A circular coil having N turns and radius r

carries acurrent L Itis held in the XZ plane

in a magnetic field B .;". The torque on the
coil due to the magnetic field is :

Options:
. Bmr2IN
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An alternating voltage v(t)= 220 sin 100t
volt is applied to a purely resistive load of
50 £). The time taken for the current to rise
from half of the peak value to the peak
value is

Options:

1 2.2ms

o 3.3 ms

3_Sr\:‘nf.

)
4 7.2 ms
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Options:

1 2.2ms

o 3.3 ms

3_Sr\:‘nf.
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A thin strip 10 cm long is on a U shaped
wire of negligible resistance and il is
connected to a spring of spring constant
0.5Nm ! (see figure). The assembly is kept
in a uniform magnetic field of 0.1 T. If the
strip is pulled from its equilibrium position
and released, the number of oscillations it
performs before its amplitude decreases by
a factor of e is N. If the mass of the strip is
50 grams, its resistance 10 {1 and air drag

negligible, N will be close to :

4 50000
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A 20 Henry inductor coil is connected to

a 10 ohm resistance in series as shown in
figure. The time at which rate of dissipation
of energy (Joule’s heat) across resistance is
equal to the rate at which magnetic energy

is stored in the inductor, is :

i 10 L)
_:-"b_\'ﬁ'-".‘\.""'-'ﬁ'r_k
E-L §20 H
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Opti_ons:
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A plane electromagnetic wave travels in

free spacealong the x-direction. The electric
field component of the wave at a particular
point of space and time is E=6 Vm 1 along
y-direction. Its corresponding magnetic
field component, B would be :

Options:



) 2%x10°8T along z-direction

5 6x10° 8T along x-direction

3 2% 108 T along y-direction

4 6%107 % Talong z-direction
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Options:
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An upright object is placed at a distance of

40 cm in front of a convergent lens of focal
length 20 cm. A convergent mirror of focal
length 10 cm is placed at a distance of
60 cm on the other side of the lens. The
position and size of the final image will
be :

Options:

40 cm from the convergent mirror,

same size as the object

20 cm from the convergent mirror,

same size as the object

20 cm from the convergent mirror,

twice the size of the object

A

40 cm from the convergent lens, twice
the size of the object

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Eﬂcmtﬁlﬂaﬁlﬁﬂlﬁﬂﬁfﬂrﬂﬂﬁﬁﬂ?ﬁ?
A 40 cm 1 T T TE I T9 H T
T ¥ o F gH R 60 cm F S0 W
mantﬁlmwméméwaﬁ‘wﬁaﬁmﬁ
T A E | @Afm Wiates & feafa SR s
=
Options:

ATERT =9 F 40 cm T, F5q & FAH
1 AT

A 99 F 20 cm W, 95 % 94

5 STPOR T



ATIEME 290 H 20 cm R, T F FTFR
5 AT

AERT 7771 1 40 cm W, 75 & ATHR

4

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
215 Gloll dadr 20 cm Segdeld dEdl w5
Segllodl d-uddl Mol 40 em #icR Y59 O,
el ol syl 60 cm @i @iy bgUGauEl
214l 10 om »id? Y5 8. kel wldlis-l
(2l 214 58 @l :
Options:
Seglleadl »Elauel 40 om, gl sveq
| S 5E

SeglleaEl »eladdl 20 em, 9L wved
o> & 58

SegUGa] el 20 cm, sl S o
2 5

Seg el d-uedl 40 om, sl | sl
, #d

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In an interference experiment the ratio of
. ) aI _ |
amplitudes of coherent waves is — "~ 5.
dn .

The ratio of maximum and minimum
intensities of fringes will be :

Options:

1 ==
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In figure, the optical fiber is [=2 m long
and has a diameter of d =20 pm. If a ray of
light is incident on one end of the fiber at
angle ! =407, the number of reflections it
makes before emerging from the other end
is close to :

(refractive index of fiber is 1.31 and
sin 40°=0.64)

Options:
, 57000

5 66000
5 55000

4 45000
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Two particles move at right angle to each
other. Their de Broglie wavelengths are A,
and A, respectively. The particles suffer
perfectly melastic collision. The de Broglie
wavelength A, of the final particle, is given
by :

Options:
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Radiation coming from transitions n=2 to
n=1 of hydrogen atoms fall on He" ions
in n=1 and n=2 states. The possible
transition of helium ions as they absorb
energy from the radiation is :

Options:
1 n=2—=n=5

o n=1—-sn=4

5 n=2-sn=3

” n=2--sn=4
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Options:

1 n=2—=n=5

- n=1—-n=4

o n=2—-n=3

" n=2sn=4
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The reverse breakdown voltage of a Zener
diode is 5.6 V in the given circuit.
200 0

AdARd

Ir'n"r\"f'f
9V l

The current Iz through the Zener is :

-800 )

'l 'n'.l'.'_

Options:

5 10 mA

= 7 mA

4 17 mA
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3 7 mA
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The wavelength of the carrier waves in a
modern optical fiber communication
network is close to

Options:



1. 1500 nm

- 900 nm

[+

2400 nm

600 nm

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U S 19 el Ha20 9 § 9es
T i FFeay wee F

Options:

1 1500 nm

> 900 nm

= 2400 nm

4 A00 nm

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
gy #A2lsa siur dan ubuaml s
A3l aadons Al Ams o,

Options:
1 1500 nm

> 900 nm

= 2400 nm

4 600 nm
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A 200 €} resistor has a certain color code. If
one replaces the red color by green in the

code, the new resistance will be :

Options:



, 1000

5 3000
5 4000

4 5000
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An organic compound neither reacts with
neutral ferric chloride solution nor with
Fehling solution. It however, reacts with
Grignard reagent and gives positive
iodoform test. The compound is:
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Maltose on lreatment with dilute HC1
gives :

Options:
1 D-Galactose

5 D-Glucose and D-Fructose

3 D-Fructose

” D-Glucose
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Coupling of benzene diazonium chloride

with I-naphthol in alkaline medium will
give :

Options:

Z=2,

OH
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The major productof the following reaction

15 :

(1) AICL,}, heat
(ii) H

Options:
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The major product of the following reaction
is:
OCH,
Conc HBr (excess)
heat

e

H=CH,
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Which of the following amines can be
prepared by Gabriel phthalimide
reaction ?

Options:



! neo-pentylamine
n-butylamine
-butylamine

triethylamine
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The TUPAC name of the following

compound is :

F”S (lf)‘II
HyC—CH-CH—-CH, —COOH
Options:
] 3-Hydroxy-4-methylpentanoic acid

5 4-Methy-3-hydroxypentanoic acid

4,4-Dimethyl-3-hydroxybutanoic
7 acid

2-Methyl-3-hydroxypentan-5-oic
4 acid
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An organic compound ‘X' showing the

following solubility profile is :

walter » insoluble
.lx.l

5% HCO

i » insoluble
10% NaOH

# * soluble
10% NaHCO, :
i » insoluble
Options:

1 Oleic acid
5 m-Cresol
2 o-Toluidine

i Benzamide
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In the following compounds, the
decreasing order of basic strength will be :
Options:

i (C,Hs),NH > C,H-NH, > NH,

o, NH3> GHsNH, > (G H5),NH

5 (C,Hs),NH > NH, > CG,H-NH,

, CGHsNH, > NH; > (C,H,),NH
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Options:

i (C,Hs),NH > C,H-NH, > NH,

o, NH3> GHsNH, > (G H5),NH

5 (C,Hs),NH > NH, > CG,H-NH,

, CGHsNH, > NH; > (C,H,),NH
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oilzts el fedl 53 2l
Options:

i (C,H:),NH > C,H-NH, > NH,

o, NHz> GHsNH, > (CH5),NH

5 (C,H:),NH > NH, > C,H-NH,

i C,H:NH, > NH, > (C;H;),NH
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The size of the iso-electronic species C1-,
Ar and Ca?" is affected by :
Options:
Principal quantum number of

1 valence shell
- nuclear charge

azimuthal quantum number of

= valence shell



electron-electron interaction in the

4 outer orbitals
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With respect to an ore, Ellingham diagram
helps to predict the feasibility of its
Options:

L Thermal reduction

- Electrolysis



5 Zone refining

i Vapour phase refining
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100 mL of a water sample contains (.51 g
of calcium bicarbonate and (.73 g of
magnesium bicarbonate. The hardness of
this water sample expressed in terms of
equivalents of CaCQO, is :

(molar mass of calcium bicarbonate is
162 g mol ! and magnesium bicarbonate
is 146 g mol 1)

Options:

i 1,000 ppm

5 10,000 ppm

5 100 ppm

4 5,000 ppm
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Options:

: 1,000 ppm

5 10,000 ppm

- 100 ppm

” 5,000 ppm
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Options:

;1,000 ppm

& 10,000 ppm

5 100 ppm

4 5,000 ppm
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The correct order of hydration enthalpies
of alkali metal ions is :

Options:

i, ¥ >Na*>K* >Eb™*>Cs?

5 LitT>Na*>K*">Cs™ >Rb"

5 Na*>Li*>K*>Rb* >Cs*

4 Na*>Li*>K*>Cs*>Rb*
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Options:

, Li* >Na*>K*>Rb*>Cs*

5 Li*T>Na">K">Cs" >Rb"

5 Na*>Li*>K*>Rb* >Cs"



4 Nat>Li*>K*>Cs*>Rb"
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Options:

, Li* >Na*>K*>Rb* > Cs"

5 Li*t>Na">K">Cs* >Rb*

5 Nat>Lif>K*">Rb* >Cs*

4 Na*>Li*>K*>Cs*>Rb*
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Diborane (B,H,) reacts independently with
O, and H,O to produce, respectively :
Options:

. H,BO, and B,0,

5 HBO, and H;BO,

% 32{33 and H3BD;

, B20sand [BH,]
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The lanthanide ion that would show colour
15 :
Options:
3 'l
1 Gd
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The following ligand is :

N—

8] t} ) N
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Options:
bidentate

5 tridentate
2 tetradentate

4 hexadentate
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The correct order of the spin-only magnetic
moment of metal ions in the following low-
spin complexes, [V(CN)]*~, [Fe(CN)J* ~,
[Ru(NH;)]? *, and [Cr(NH;)g]**, is :

Options:

; V2t >Cr?t > Ru?t > Fe?t

g Gre 2.Ret BFest p W2

g G B VAR Ryt 5 Fe
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, CF > V3 > Ru’ > Fe??
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Which is wrong with respect to our
responsibility as a human being to protect
our environment 7

Options:

i Setting up compost tin in gardens.

5 Using plastic bags.

2 Restricting the use of vehicles

Avoiding the use of floodlighted
4 lacilities.
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Assertion : Ozone is destroyed by CFCs in

the upper stratosphere.

Reason: Ozone holes increase the
amount of UV radiation reaching the earth.
Options:
Assertion and reason are correct, but
the reason is not the explanation for

1 the assertion.

Assertion is false, but the reason is

correct.

Assertion and reason are both correct,
and the reason is the correct

= explanation for the assertion.

Assertion and reason are incorrect.

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T : TIAPRER F T 9 H CFCs G

ASIA = faamw B 21

THIOT ; SASRE f2si 9 Jeal W 9gad am
UV fafsoi =1 961 =4 21

Options:

FYF 991 FRU T & T FRU, FH
| I HE = @6 g



o O T & T I W ¥ |

FUA TG FRU SF] TEl § AN FE,
5 U FI HE = FA ¢

, T T F0 I T g

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
altezen © Gur-L syl 2usRerMi CFCs gL
ol AL WA B,
SRL ¢ 2l 2uetsl wreredl [Elsveir seauq
yeell Yell yelaussum quil 52 .
Options:
AL e 51291 L8, Yid, 5101
, AltEzenAl syl -2l

, dERen WEL B, Wi sreL wy .

[CERRIL 2 SREL ol ML E 2 5381
5 = ldERen w2l well il 6.

4 AlMERE A S0l v L AL

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In order to oxidise a mixture of one mole of

each of Fe(C,0,, Fe,(C,0y), FeS50,; and
Fe,(50,), in acidic medium, the number of
moles of KMnO), required is:

Options:

3. 1

5 15
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1
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Element ‘B’ forms ccp structure and “A’
occupies half of the octahedral voids, while
oxygen atoms occupy all the tetrahedral
voids. The structure of bimetallic oxide is:

Options:

] A,BOy,

, ABO,



. AB0

, AB0
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The quantum number of four electrons are
given below :

L n=4.1=2 m;= — 2, ==

1I. n=3,1=2, m=1m,= +%2

Ol. n=4,1=1m=0m=+%

IV. n=3I=1m=1m=-"

The correct order of their increasing
energies will be :

Options:

I<lI<HI<IV

5 [<I<II<IV

5 IV<II<I<I

4 IV<II<II<I
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II. n=3.1=2 111].:1,1:115: + 12

. n=4,I1=1, m=0,m,=+%

V. n=3,1=1,n1j.=1,m£=—1fz

ST Tt S T A
Options:

y I<I<HI<IV

5 [<I<II<IV

5 IV<II<I<I

4 IV<II<I<I
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L. fi=4 =3 m, = —2 m, = — 15
II. n=3I=2m=1m=+%

L n=4,1=1 m=0 m,=+%

IV: n=3i1=1 mf=1, m, = — 15
Al sl 2zl Ugdl 54 =il

Options:

;. I<I<I<IV

5 [<II<II<IV

5 IV<II<I<I

4 IV<II<I<I
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For silver, C ([ K Imol ~1y=23+0.01T. If
the temperature (T) of 3 moles of silver is
raised from 300 K to 1000 K at 1 atm
pressure, the value of AH will be close to :

Options:
; 13K

w HE
5 16K

4 62K
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Options:

1 13K



= 28

z 16K

4 62K]
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Options:
; 13K

, 21K
2 16K

4 62K]

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the follow ing equations does
not correctly represent the first law of
thermodynamics for the given processes
involving an ideal gas ? (Assume non-
expansion work is zero)

Options:

L Isothermal process: q=—w

5 Cyclic process: q= —w

= Isochoric process : AU=q

Adiabatic process : AU=—w
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No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



= 8 4+ = gHE gefemaies &
gy fagr =1 foa ™ uwn & fow, fomad
ey 9 ¥, W w9 H WEA dal Fa
(a = ToF AgEmer 1 3 8)

Options:
| HEAE 9 L q= - w

EIWW tq=—w
o T $6H : AU=q

4 TEH TEE : AU=—w
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el ugel s Aslaal wsd Hie Al wisl
54 w{lsnel Gl auldeist- ueal Hamq e
[Azuel A2l 537 [GrlErdrel sid - ©.

Options:

, Hudnllusn : g=-w

, AU q=—w
- {5t usH 0 AU=q

5 Ml MY AU= —w

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The vapour pressures of pure liquids A and

B are 400 and 600 mmHg, respectively al
298 K. On mixing the two liquids, the sum
of their initial volumes is equal to the
volume of the final mixture. The mole
fraction of liquid B is 0.5 in the mixture. The
vapour pressure of the final solution, the
mole fractions of components A and B in
vapour phase, respectively are :

Options:



1 500 mmHg, 0.4, 0.6

5 450 mmHg, 0.5, 0.5

= 500 mmHg, 0.5, 0.5

4 450 mmHg, 0.4, 0.6

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

298 K 9 Y5 &9 A 91 B & a5 2 FHA:
400 T 600 mmHg ¥ 1 31 241 #i e ™
I YRS Sgad] &1 9 39 SAfaq fHgm
F g & e 2| fAgw § 29 B & A
AU HW0.5 21 A9 faem 1 9 2= v
A TATB 319941 &1 9% JrEe § 1 0] 391
W:%‘ﬁ:

Options:

1 500 mmHg, 0.4, 0.6

5 450 mmHg, 0.5, 0.5

2 500 mmHg, 0.5, 0.5

4 450 mmHg, 0.4, 0.6
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208 K31, HAlléL A AL B AL AU¥Y SRl 24454
400 =i 600 mmHg . =i o uadlH ®ou
53ell oML 2L $E-AL Bzl MR 2iau
56 secll =y 6. Beer], dewdl B AL Ha =it
05 &, dl uksusl gias cirusenst 24
YA 825 A A B -l Hidial
A5

Options:

1 500 mmHg, 0.4, 0.6

5 450 mmHg, 0.5, 0.5



= 500 mmHg, 0.5, 0.5

% 450 mmHg, 0.4, 0.6
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Correct Marks: 4 Wrong Marks: 1
If solubility product of Zr,(PO,), is denoted
by I(l‘.P and its molar solubility is denoted
by S, then which of the following relation
between S and I(SP is correct ?

Options:

1

¢ Ve
5=[k‘”*’

29
2. . A
- \Y%
S = h‘“ﬂ
: 6o12
WS
9:[[\”?’}
=
| 216
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afg Zr,(PO,), & Taeraan urea =i K, 5
AT THHI Ao faerad F:1S 51 Af9sgad +:3d
B WS MK, F T Tl Fvars 2

Options:

1

5=[K“P
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Options:
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-
[
ot

Given that ED;;IH;E‘J: +1.23V;

Eg oy

The strongest oxidizing agent is :

Options:
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i)

N

¥

s

E

8,087 /s0% T 205V

I:‘;;’,T,Er_ =+1.09V.

Audt jap= T14V 2N 6. wHl xen
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Options:
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No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For the reaction 2A+ B = C, the values of
initial rate at different reactant
concentrations are given in the table below.

The rate law for the reaction is :

[A] (mol L~)|[B] (mol L™1) E"migf];iﬁi“_-l]
0.05 0.05 0.045
0.10 0.05 0.090
0.20 010 0.72
Options:

, Rate=Kk[A][B]
» Rate=K[A]?[B]
Rate=k[A][B]?

, Rate=Kk[A][B]?

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 Wrong Marks: 1



Af9fHa 2A + B— C & o1, sAfYEr=si =1
fafvs arsast W 9RfEF =2 F 99 99 =
¢ Aifers | fei W ¥ sfafEen & faw =

IRRE @FTE :
[A] (mol L.=1)|[B] (mol L= ’[m':ol 2 Eﬂ_l)
0.05 0.05 0.045
0.10 0.05 0.090
0.20 0.10 0.72
Options:
| T=KA][B
| T=K[A][B]
. T=K[A][B]

, T=K[APBP

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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el wu 2A + B C we, l2iAL 2eaHl
Ulsusl srel-seel sigat w2 wEls sl Budl
el 5. dba w2 Gl Huw 5.

_ _ 1| 2l =
[A] (mol L™1|[B] (mol L™ {Em“__lﬁ_ij
0.05 0.05 0.045
0.10 0.05 0.090
0.20 0.10 0.72
Options:

| PL=K[A][B]
o PL=K[AJ[B]

5 PUI=K[A][B]2

V. @1=k[A]YBJ>
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Correct Marks: 4 Wrong Marks: 1
Adsorption of a gas follows Freundlich

adsorption isotherm. x is the mass of the

gas adsorbed on mass m of the adsorbent.

The plot of log i versus log p is shown in

. X :
the given graph. — is proportional to :
m

X
log — | —=____
m

Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
TF | T Afagign, wEeefee Aty
THATT %1 I 0T 2 | ATII9E & m 549

W sfuEifE 9 = L log 2 ¥

m

fa%a log p #1 =2 fad T4 7w | =9 T

X
log — e .
& m ’ 3
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25 ey il grodl 2Bl 2uanld
UMY B, m BN YAl 2EMEL YR x 0

. = -y x \
QL Ay 2ERiMeL i . log— (9324
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= Y iy £ e x = = Iy
log p L 26w 2 gllde 5. — 21w 24
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.r"ff...r'f
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log p
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Correct Marks: 4 Wrong Marks: 1

1—x
i flx) = I‘)Se[—l 1 x| <1, then
4, | .1 __,'

J 2y ]
.?L[ — 7 |isequalto:
W - .

Options:
1. 11{{;—3}

> —2f(x)
3 2f(x)

. )2
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S

oz f(2) = loge —

,x-il"%,'ﬁﬁ
Fl

Options:
A
1 2f(x9)

= 2l (x)
z 2f(x)

L )P
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| 1 —x
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Options:
5
1. 2f(x7)

> —2f(x)
= 2f (x)

4 (@)
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If « and B be the roots of the equation
x%—2x+2=0, then the least value of n for

Options:
1.

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Atz AR x2-2x+2=0 % G o 991 B 7,

xn
= - i =
@l n 1 a9 g[, Faed fom [I? = 1%,
LiE LS
-
Options:
1. 9
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i, a s 2 . H
sl o A B HulsRel 22— 2x +2=0 i ol

n
&, L [EW =1 o, A U2 n Al et Bud
Y !

a.

Options:
1.

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The sum of the solutions of the equation
W =2/ + Jxldx —4) +2=0, (x>0
is equal to :
Options:
1 4

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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HERT]
Wx = 2| + Jxlyx = 4) + 2=10, (x>0)
& Bl A G 2
Options:
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w5301

Wx - 2|+ Jx(¥x = 4) + 2=0, (x>0)
Al Ghelll Mrel 8.

Options:
1. 4
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COS0 Sino

Let A = [ _ ], (e e R) such that
S COSM

| =

0 1
AT = [1 0 W Then a value of awis:

P

Options:
1. 0
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COS0 Sinao

aHET A =[ _ 1 (e R) 39 T=hT
ST COS0 J

W -
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Options:
1.0
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> 64
1
o 32
111
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COSM sino —
(e R) 5 o8l

sino cosa

RlE A= [
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AT =11 ol dloadl As [ud
r
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Options
1.0
1
> 64
1
5 32
113
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The greatest value of c € R for which the
system of linear equations

x—cy—cz=0
cx—y+cz=0
cx+cy—z=0
has a non-trivial solution, is:

Options:
1

= 0

3
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ce R &1 stfereman am, o for Higes i
(EEaD!

x—cy—cz=0

cx—ytez=

ax+cy—z=0

F UF TS BA B, B

Options:
M |

I
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H3u wdlszel wigld

X—cy—cz=

cx—y+cz=0

cx+cy—z=0

o 4l Gy (non-trivial solution) WO, o M2

-

ceR Al usriy Bud 6.



Options:
1, —1

= 0

I
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All possible numbers are formed using the
digits 1, 1, 2, 2, 2, 2, 3, 4, 4 taken all at a
time. The number of such numbers in
which the odd digits occupy even places
is:

Options:
1. 160

4 180
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afl 3% 1,1,2,2,2,2,3,4,4 %l U T1Y o
oft A9 FEIE WS M8 2| 39 UEN i
e, fad o o o9 o w2 f
Options:

1. 160

4 180
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Correct Marks: 4 WrongMarks: 1
1,1,2,2,2,2,3,4, 4 2i5HlL 215 A& Gyt 31
2154 cedl cn Al el =1 8. dl
wigl 25l o8l vy gl dsdl sedl dvasil
i)

Options:

1 160

4 180
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The sum of the co-efficients of all even
degree terms in x in the expansion of

—

; 6
lx+v2® =1) +lx X 1},{){‘}1}
is equal to :

Options:
] 24

o 26
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'[:r Fax® =1 }ﬁ i (x Vo 1]6,{1}1}
& TER 4 x % 9t AUErE 951 & IR @6
0T S R

Options:

| 24

> 26
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b

G
(I I \,',1‘3 1} | [x \._1:3 1] (x>1)
Al [Badzeml, x Al 68l sudsion MM vglL

UL IHL {0l o

Options:
1 24

5 26
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The sum of all natural numbers ‘n’ such that
100 <n<200and H.CF. (91,n) > 1is :
Options:

1 3203
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|\l W wems ', A 56 gEE 2 T
100 < n <200 @241 H.C.F. (91, n) > 1, &1 40
g

Options:

1 3203

5 3221
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¢ Mglds vl ‘n’ 42 100 < n <200 24
AL (91, n) > T 2, dell dus vl
Azl UL

Options:
, 3203

5 3221
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The sum of the series
2-0C,+5-20C, +8-2C, +11-20C, +... +
62-2*7’{??_{} is equal to :

Options:

1 224

i
5: 248

4 zzt:l
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goft 2-20C,+ 5-20C,; +8-0C, +11-0C; +... +
62-20C.,, =1 TN TR 2 -

Options:
2
1, 24

25
> 2
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4 zlt:l
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8zl 2-20C, +520C, +8-2C, + 11- 1{]L3
62- 20 vu Al wzeq0L —— 8.

Options:
7
1, 2%

4 zlt:l
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sin-
lim

equals :
x—l) -J"_ V1 4+ cosx 9
Options:

42

4

2

=3

o5
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¥ o}
s1n°T X -
lim HIET 2

x—Hl \n"'_ A1l 4+ cosx

Options:

42

5 4
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P
i SinT Xx
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=0 2 1 + cosx =p=rr

Options:

| 42

4

4

f-3

V2

4.
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Options:
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Let f: [0, 2] — R be a twice differentiable
function such that f"(x) > 0, for all xe(0, 2).
If p(x) = flx)+ f(2—x), then & is :
Options:
increasing on (0, 1) and decreasing on
1 (1,2).

decreasing on (0, 1) and increasing on
s (1.2).

= increasing on (0, 2)

i decreasing on (0, 2)
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£:10,2] = R 21 &R s{aheTE e 59 THE 2
T Wl xe(0, 2) & U f(x) >0 B AR
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Options:

, (0, 1) W TuT Fe (1, 2) W EEEM 2|
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4RL S f:]0,2] —» R 2 klsadl [au o %
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IfS, and 5, are respectively the sets of local
minimum and local maximum Eroints of the
function, f(x)=9x* +12x"—360° + 25, xe R,
then :

Options:

L S1=1-2,05:5,=(1)

. 5=(—2,1;5,=(0}

= S'j :i - ]-I;Sp_: {{]rz}

4 51 =1 _2]:52: l[]r I’
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afg Fe flx)=92% +12x7 —3602+ 25, x € R,
% ¥ Fean qu e 3= fags &
HY=A FHA: S, A S, 7, 1 '

Options:

L S1=(-2,058,=(1)

, $,={-21;;5,={0}

. 5={-155,=00,2)

, Si=1-2:8,=10,1)
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od [8Y f(x) =902+ 1203~ 3622425, x € R
AL 22l Yy 2 rld Hen Bigii-u
QU 2454 S 2l S, €Y, L

Options:

L S1=(-2,0:5,={1)



S,={-2,1};S,=1{0)

o
. $1={-15;5,=-10,2)
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' . bx
g
J = dx is equal to :

Sin—
2

(where ¢ is a constant of integration.)

Options:
1 r+ 2 siny +sin2x+c

5 r+2siny+2sin2x+c¢

2 2y +siny+sin2x + ¢

4 2y +sinx + 2 sin2x +¢
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sin—~ .
J. = dx SIRE 2

sin—
2
(FE ¢ Ush HUTHH 3T 2|)
Options:
1 *+2 sinx +sin2x+c

o x+2sinx+2sin2x +c¢

3 2y +sinxy+sin2x + ¢

a: 2y +sinxy + 2 sin2x +¢
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(sl ¢ = Hsanl 210is 5)
Options:
1 X+2sinx +sinx+c

5 r+2siny+2sin2x+c¢

2 2x + sinx + sin2x + ¢

4 2x +sinx + 2 sin2x +c¢
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If ) =
@) 2 + xcosx

(x > 0) then the value of the integral

—2 o | 8{I]ZIDBEI,

m

g(f(x)) dx is:

—

!
Options:

{ log,.2

lngﬁ.’%
= log,.1

4 lngee

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i ') iy -
e f(x) = 5 AR A g(x)=logx,
' 2 + xcosx
u7A
= - 4
(x>0) @A [ g(f(x) dx F19H
-/
-

Options:



1 log,.2

log 3
2. OBe
3 log,.1

A Ingee

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

% ’ : : =
ol f(x) = ST XCOSY yq g(x) =log,x,
2 + xcosx
W
- ’4
(x=0), < giflx))dx =__
_'I'I',."'
/4
Options:
1 log,.2
Ingﬁ.’%
z log,.1
A Ingee

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The area (in sq.units) of the region
A={(x, NeRxR|0=x =3, 0=y =4,
yErE + 3x} is:

Options:
1. 8

26
>



Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
&3 A={(x, y)eRxR|0=x=<3, 0=y=4
y=<x2 + 3x} & HAFeA (gl H) 2 -

[

Options:
1 8

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Uzl A={(x, Y)eRxR0=x=3,0=y=4,
y=a2 + 3u) o &5 (Al 2i54H)

8.

Options:

1.8

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Lety=y(x) be the solution of the differential

equatim1,{x3+ I]Zl—y +2x(x% + I)y=1such

E

that y(0)=0. If va y(1)= -

30’ then the

I3

value of "a’ is:
Options:

4
1 16

]
B2 | =

W
(S}

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

g1 y=y(x), A AHIH I

(2 + 1}2% +2x(x?+ 1)y =11 & 7, Talfeh

y(0)=0 21 =fz va y(1) = 'T_z 2 Al a @

oH 2

Options:
3

1 16

M2
b | =

No Option Orientation : Vertical

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
Correct Marks: 4 WrongMarks: 1



Rl 5 y=y@) = [Hsa widlsze

(x2+-1}2i_3f +2r(x2+ 1)y =1 -l G4 ©

y(0)=0 8. st va y(1) = __%2 Al “a” Al Gad

B.

Options:
+*
1 16

b | =

i
i

I
e | =

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let O(0, 0) and A(0D, 1) be two fixed points.
Then the locus of a point P such that the
perimeter of AAOP is 4, is:

Options:
1 9y —3];2 +8y=16

5 9x2+8y2—8y=16
2 8xZ - Qy?- +9y =18

4 8x2+9y2-9y=18

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o1 O(0, 0) a1 A(0, 1) &l Ffv=a fag 2, @
vy fog P feh fety AAOP =1 uftumg 4 21, #
ferqae 2 -

Options:

1 9y2 —8];2+8y= 16



> 9x2 +82—8y=16

= 8xZ - 9y3 +9y =18

, 822492 -9y=18

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
4IRL S O(0, 0) =i A(0, 1) « HEid gl .
Al AAOP ALy 4 2e de (65 P -l [Gigua
8.
Options:
1 9y2 —8];2+8y= 16

5 9x2+8y2—8y=16
5 Bx*—Oy*+9y=18

4 822492 9y=18

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A point on the straight line, 3x+5y=15
which is equidistant from the coordinate
axes will lie only in :

Options:
! 15t ond 3nd 4th quadrants

5 15* quadrant
5 15t and 2" quadrants

i 4th quadrant

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
el @ 3x+5y=15 W fraa ww ey, S
fgarieh e | AHgE R, Sae fora 2

Options:



ve, g awn gqd =qatn 4

EECR R

[J

ey de fgefa =g o

A

=q2 =gt 4

s

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
0L 3x +5y =15 Uz 219 (65 5 o 2zilell 2
pics 2ildg B, d 55
Options:
L v, (gl 2 gl 2Rerml 2l

, W 23001 2l

5 MUY A (gl 2rerd wusel.

i 22l AL UL,

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The sum of the squares of the lengths of
the chords intercepted on the circle,
x?+y*=16, by the lines, x+y=n, neN,
where N is the set of all natural numbers,
is:
Options:
1 105

5> 210
3 320

4 160

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Ell 2+ y1= 16 T Tt x + y=n, neN Erdl
N =i STehd HEnH] & T 2, g HIe TS
Stranatl &l eTaedi & A & 4 2

Options:

1 105

5> 210
3 320

4 160

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ullall x+y=n, neN (sl N = wglas
oAl 218l ), gRL Adn ¥2+y2=16 W
wetlid Wil dend =il 2RuHl qanl
- 8.

Options:

, 105

5 210
3 320

4 160

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The shortest distance between the line y=x
and the curve y>=x—2is:
Options:
11

N
%)



Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T y=x a9 9% y>=x—2 % ff= & AT
gh 2

Options:

11
L W2

P2
H
%H:l
-2

o |~

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ly =x 2 o5 P =x— 2 4R YA e

e .
Options
11
1 N2
7

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the tangents on the ellipse 4x2 + ]F=8 at
the points (1, 2) and (a, b) are perpendicular
to each other, then a2 is equal to :

Options:



Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afe ddem 42+ y2=8 % Fagai (1, 2) aw
(a, b) W il ¢ PasfE ey oedd 8, b
a FH 2
Opt_ions:

2

1 17

128
o 17

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

od Guaad 42 +12=8 AL gl (1, 2) =i
¥

(a, b) =PIl 242l5l Wwayr det @y, dl a2

et

Opt_ions:
2
1. 17
128

> 17



Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular from the

point (2, —1, 4) on the straight line,

x4+ 3 _ W=z
0 7 1

Options:

is :

1 less than 2

> greater than 2 but less than 3

= greater than 3 but less than 4

1 greater than 4

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
forg (2, —1,4) & wwa @

x+ 3 y—2 z ” ;
= = - WM T Ag &l
10 - &
Options:
{ 28 %42
5 29 HHfoeh 9ig 3 | %A 2
. 3 o wifers wig 4 ° &0 2

4 4 F s 2|

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



x+3 oy 2
10 7
Yzl doi] dond £,

(€ (2, -1, 4) dl 2

= | ra

Options:

, 2 s wylesl

5 2 &l SR oL 3 Sl 2l

4 8 Sl SAE WL 4 53l 2l

4 4 el U3

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The equation of a plane containing the line
of intersection of the planes 2x —y—4=0
and y +2z—4=0 and passing through the
point (1, 1, 0) is :

Options:
1_x—y—z=ﬂ
2_x+3y+z:4

2 x—3y—2z=-2

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Hqudell 2x—y—4=0 a4 y+2z—4=0
gfdedes T & sidfdte @ dred qun fag
(1,1,0) | & T4 et Fgact &1 T
Options:

{ x—y—z=0

5 x+3y+z=4

2 x—3y—22z=-2



Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HHAAl 2r—y—4=0 24 y+2z—4=0 -l
EuA WAl 2 (g (1, 1, 0) izl i
2ol ¥ #ls2el .

Options:
; ¥—y—z=0

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The magnitude of the projection of the

M, M, M

vector 21 4 "’r; [ k on the wvector
perpendicular to the plane containing the

o

vectors ¢ 4 Jr t k and ;'. [ 2; b3k, 18

Options:

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Fa A M

AfE 20+ 3j + k % W ;o4 o+ k

ﬂ'.

A A S
T+ 2j + 3k I AR FE A GHA
& A9 Ay 9% YAY % iy 2

Options:

2

3 V6
3

4 V2

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

w M A A w M A A
el o 4k @l i+ 25 + 3k
WAL YA A dol did aa 1WEn w, ulkn
. A A A - .

20 + 3 4 koUMENALMA 8,

Options:

Z.

3 Vo
3

4 V2

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The mean and variance of seven
observations are 8 and 16, respectively. If
5 of the observations are 2,4, 10, 12, 14, then
the product of the remaining two
observations is :

Options:



Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1A YT 2 H1Sg A1 TE] AT 8 491 16
afg 390 & 5 921 2,4, 10,12, 14 &, 1 59 &)
el w1 U 2

Options:

1. 40

- 49
z 45

4. 48

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Uil 2L HE45 e (B0 253 8 24
16 8. od il 29dlsididAL 5 2dlsl
2, 4,10, 12, 14 €14, di edstHl 4 ==eis-il
ARSI e.

Options:

1. 40

5. 49
5 45

4 48

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Let A and B be two non-null events such
that A= B. Then, which of the following
statements is always correct 7

Options:
, P(A[B)=1

, P(AIB)=P(A)

. P(AB)=P(A)

4. P(A[B)=P(B) —P(A)

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

O A A4 B & UH #FE (non-null) 9o
ifH AcBR @ 9 9 8 #9 = %u= 25
HE 27

Options:

, P(AB)=1

, P(AB)=P(A)

. P(AB)=P(A)

4. P(A[B)=P(B) —P(A)

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HELS A i B o #1245 g2l © d A = B,
dl Al U5l 57 [Geun el e 9

Options:
, P(AB)=1

, P(AIB)=P(A)

. P(AB)=P(A)

4. P(A[B)=P(B) —P(A)

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
3 5
-

If cos(a -k[ﬂ]:g, six':{u—[:’.}:I— and

O<a pP< i, then tan(2e) is equal to :

Options:
21

1 16

63
~ 16

63
5 P

33
4 22

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

: - 3 .
afg cos(fa+B)= 5 sm{u--[ﬂj=ﬁ adl

— &, @ tan(2a) T B

0<a B{I

Options:
21

1 16

63
~ 16

63
5 oL

33
4 92

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



. 3 5
sl cos(a+ B]=E, six'u{u—[j}:ﬁ -

=T

0<a, P< I dl tan (2a)= _
Options:

21
1 16

63
> 16

63
3 52

33
4 52

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If « = cos Iig], B =tan! ;J;where
LY -_,nl e

OD<a,B< E,thenu—[:’.isequalm:

Options:

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



2 3". ' .-'_1\' . .
e « = cos I{—|,I5 = tan 1[—J B, TE
\ 5/ 3

T 5
O<a,B< ?.mm—-[_’- e 7 -

Options:

tan_I[i\J
14

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

L | =

i I 3\ i I W =
sl o= cos | = | p = tan , sl
5. J

A

T o
O<a,B<s—,da—B=

Options:

tan_I[i\J
1 14,

.-1£ °_)
S e
5 510

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The contrapositive of the statement “If you
are born in India, then you are a citizen of
[ndia”, is :

Options:

If you are born in India, then you are
not a ciizen of India.

[f you are a citizen of India, then you
- are born in India.

If you are not born in India, then you
= are not a citizen of India.

If you are not a citizen of India, then
you are not born in India.

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
F2H
“afe 9 wa § o 2, 91 #9 9Yd & UH
et 7 & OO Y 2
Options:
oz 39 WA | S 8, d 39 "WWd &
| AT TE 2

AqfE 39 HAA % U AV 2, 9 319
o W H S F

afe 3 wra o 974 9, & 359 urd &
| i T8 21

4 WHE | T 5 A
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Correct Marks: 4 WrongMarks: 1

(e ot AHIEL srrd SURcHL 24l €1, dl 43

Mldldl Atks o1, A waEl i
8.

Options:



sl 4Bl seed oUdMl 24l Sl dl A
ol AelRs 2l

s A GURAAL AoURSs €let, dl dMIzL srey
oML 24l 5,

sd AR se-d MRl A2l =l dl ad
Rl Apilks .

s A MReAL ARIES A2, dl duEL seed
oAl A2l HHl.



